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QUESTION 1

You use the Oracle Cloud Infrastructure console to create a MySQL DB system. You give it the name "mysql" and set
the administrator username to "mysql.sys." You give it a data storage size of 50 GB and set the host name to "mysql-
host." 

You do not specify a Maintenance Window start day and time. 

Which action causes an error? 

A. Storage size is too small. 

B. Username "mysql.sys" is reserved. 

C. Host name should contain only letters. 

D. Maintenance Window start time is required. 

Correct Answer: B 

 

QUESTION 2

Which are the three strategies to migrate Oracle Database to Oracle Cloud Infrastructure (OCI)? (Choose three.) 

A. Zero Downtime Migration (ZDM) 

B. Autonomous migration 

C. Real Application Clusters (RAC) 

D. Migration Workbench 

E. GoldenGate 

Correct Answer: ADE 

 

QUESTION 3

Which statement is true about scaling storage for a Virtual Machine DB System? 

A. You can independently scale the storage used by the VM DB System but the Available Data storage size cannot be
decreased, whereas the Recovery Area storage size can be decreased. 

B. You can independently scale the storage used by the VM DB System but the Available Data storage size and
Recovery Area storage size cannot be decreased. 

C. You must concurrently scale up the storage used by the VM DB System for the Available Data storage size and the
Recovery Area storage size. 

D. You must concurrently scale up or down the storage used by the VM DB System for the Available Data storage size
and the Recovery Area storage size. 
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Correct Answer: B 

 

QUESTION 4

Which Oracle Cloud service does NOT support Real Application Cluster database? 

A. VM 

B. Bare Metal 

C. Exadata Cloud Service (both ExaCS and ExaCC) 

D. Autonomous Database 

Correct Answer: D 

 

QUESTION 5

Which method must you use to patch databases on Exadata Database Service with the least amount of downtime? 

A. Conduct in place patching of the database Home. 

B. Leverage Patchmgr to execute patching the database Home. 

C. Create a Data Guard standby and execute standby first patching. 

D. Leverage Opatch to execute patching the database Home. 

E. Move the database to a new Home with the desired patch level. 

Correct Answer: C 
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